

PROPERTIES OF COMBINATION USING TRIPLE FACTORIAL

G. GUNASUNDARI
 ASSISTANT PROFESSOR
 SRI AKILANDEESWARI WOMEN'S COLLEGE
 VANDAVASI, THIRUVANNAMALAI DISTRICT
 TAMILNADU

Abstract:

In this paper an attempt was made to derive few formulae on combinations using the fact called triple factorial.

The results of the combination which had been already proved was solved and proved by me using this concept

Keywords: triple factorial, semi factorial, double factorial, combination, permutation

Introduction:

Initially, this idea was highlighted to me in solving a mathematical puzzle. Then I started to solve properties of permutations and combinations using the fact called sub factorial. Then I got a thought to solve the properties of combinations and permutations using the fact called semi factorial or double factorial. Then I decided to solve the properties of combinations using the fact called triple factorial.

In this paper I have solved few properties of combination using the notation triple factorial which was already proved.

Formula for triple factorial

$$n!!! = n \times n - 3 \times n - 6 \times \dots \times 3 \quad \text{for } n \text{ which is a multiple of } 3$$

$$n!!! = n \times n - 3 \times n - 6 \times \dots \times 1 \quad \text{for even } n \text{ other than a multiple of } 3$$

$$n!!! = n \times n - 3 \times n - 6 \times \dots \times 2 \quad \text{for an odd } n \text{ other than a multiple of } 3$$

In particular we assume that

$$0!!!=1$$

$$1!!!=1$$

$$2!!!=1$$

$$3!!!=3$$

Result 1

Relation between factorial and double factorial

$$n! = n!!!(n-1)!!!(n-2)!!!$$

Example

$$5! = 5!!!4!!!3!!!$$

$$= 5 * 2 * 4 * 1 * 3$$

$$= 120$$

Result 2

Expression of combination in terms of triple factorial

$${}^n C_r = \frac{n!!!(n-1)!!!(n-2)!!!}{(n-r)!!!(n-r-1)!!!(n-r-2)!!!r!!!(r-1)!!!(r-2)!!!}$$

Result 3

$${}^n C_0 = 1$$

Proof:

$$\begin{aligned} {}^n C_0 &= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-0)!!!(n-1)!!!(n-2)!!!0!!!} \\ &= \frac{n!!!(n-1)!!!(n-2)!!!}{n!!!(n-1)!!!(n-2)!!! * 1} \\ &= 1 \end{aligned}$$

Result 4

$${}^n C_n = 1$$

Proof:

$$\begin{aligned} {}^n C_n &= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-n)!!!n!!!(n-1)!!!(n-2)!!!} \\ &= \frac{n!!!(n-1)!!!(n-2)!!!}{(0)!!!n!!!(n-1)!!!(n-2)!!!} \\ &= \frac{n!!!(n-1)!!!(n-2)!!!}{1 * n!!!(n-1)!!!(n-2)!!!} \end{aligned}$$

$$= 1$$

Result 5

$$nC_1 = n$$

Proof:

$$\begin{aligned} nC_1 &= \frac{n!!! (n-1)!!! (n-2)!!!}{(n-1)!!! (n-2)!!! (n-3)!!! 1!!} \\ &= \frac{n(n-3)!!!}{(n-3)!!!} \\ &= n \end{aligned}$$

Result 6

$$nC_{n-1} = n$$

Proof:

$$\begin{aligned} nC_{n-1} &= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-n+1)!!!(n-1)!!!(n-2)!!!(n-3)!!!} \\ &= \frac{n!!!}{(1)!!! (n-3)!!!} \\ &= \frac{n(n-3)!!!}{1(n-3)!!!} \\ &= n \end{aligned}$$

Result 7

Relation between permutation and combination

$$nC_r = \frac{nP_r}{r!}$$

Proof:

$$\begin{aligned} \frac{nP_r}{r!} &= \frac{n!!! (n-1)!!! (n-2)!!!}{(n-r)!!! (n-r-1)!!! (n-r-2)!!! r!!! (r-1)!!! (r-2)!!!} \\ &= nC_r \end{aligned}$$

Result 8:

$$nC_r + nC_{r-1} = n+1C_r$$



Proof:

$$\begin{aligned}
n C_r + n C_{r-1} &= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-r)!!!(n-r-1)!!!(n-r-2)!!!r!!!(r-1)!!!(r-2)!!!} + \\
&\frac{n!!!(n-1)!!!(n-2)!!!}{(n-r+1)!!!(n-r)!!!(n-r-1)!!!(r-1)!!!(r-2)!!!(r-3)!!!} \\
&= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-r)!!!(n-r-1)!!!(r-1)!!!(r-2)!!!} \left[\frac{1}{(n-r-2)!!!r!!!} \right. \\
&\left. + \frac{1}{(n-r+1)!!!(r-3)!!!} \right] \\
&= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-r)!!!(n-r-1)!!!(r-1)!!!(r-2)!!!} \left[\frac{1}{(n-r-2)!!!r(r-3)!!!} \right. \\
&\left. + \frac{1}{(n-r+1)(n-r-2)!!!(r-3)!!!} \right] \\
&= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-r)!!!(n-r-1)!!!(r-1)!!!(r-2)!!!} \left[\frac{n-r+1+r}{(n-r+1)(n-r-2)!!!r(r-3)!!!} \right] \\
&= \frac{n!!!(n-1)!!!(n-2)!!!}{(n-r)!!!(n-r-1)!!!(r-1)!!!(r-2)!!!} \left[\frac{n+1}{(n-r+1)(n-r-2)!!!r(r-3)!!!} \right] \\
&= \frac{n!(n+1)}{(n-r)!!!(n-r-1)!!!(r-1)!!!(r-2)!!!(n-r+1)(n-r-2)!!!r(r-3)!!!} \\
&= \frac{(n+1)!}{(n-r+1)(n-r)!r(r-1)!} \\
&= \frac{(n+1)!}{(n-r+1)!r!} \\
&= n+1 C_r
\end{aligned}$$

Result 9:

$$n C_r = \frac{n}{r} n-1 C_{r-1}$$

Proof:

$$\begin{aligned}
\frac{n}{r} n-1 C_{r-1} &= \frac{n}{r} \frac{(n-1)!!!(n-2)!!!(n-3)!!!}{(n-r)!!!(n-r-1)!!!(n-r-2)!!!(r-1)!!!(r-2)!!!(r-3)!!!} \\
&= \frac{n}{r} \frac{(n-1)!}{(n-r)!(r-1)!}
\end{aligned}$$

$$= \frac{n!}{(n-r)!r!}$$

$$= nC_r$$

Result 10

$$nC_r + nC_{r+1} = n+1C_{r+1}$$

Proof:

$$nC_r + nC_{r+1}$$

$$= \frac{n!!! (n-1)!!! (n-2)!!!}{(n-r)!!! (n-r-1)!!! (n-r-2)!!! r!!! (r-1)!!! (r-2)!!!}$$

$$+ \frac{n!!! (n-1)!!! (n-2)!!!}{(n-r-1)!!! (n-r-2)!!! (n-r-3)!!! (r+1)!!! (r)!!! (r-1)!!!}$$

$$= \frac{n!!! (n-1)!!! (n-2)!!!}{(n-r-1)!!! (n-r-2)!!! (r)!!! (r-1)!!!} \left[\frac{1}{(n-r)!!! (r-2)!!!} + \frac{1}{(n-r-3)!!! (r+1)!!!} \right]$$

$$= \frac{n!!! (n-1)!!! (n-2)!!!}{(n-r-1)!!! (n-r-2)!!! (r)!!! (r-1)!!!} \left[\frac{1}{(n-r)(n-r-3)!!! (r-2)!!!} + \frac{1}{(n-r-3)!!! (r+1)(r-2)!!!} \right]$$

$$= \frac{n!!! (n-1)!!! (n-2)!!!}{(n-r-1)!!! (n-r-2)!!! (r)!!! (r-1)!!! (n-r-3)!!! (r-2)!!!} \left[\frac{r+1+n-r}{(n-r)(r+1)} \right]$$

$$= \frac{n!!! (n-1)!!! (n-2)!!!}{(n-r-1)!!! (n-r-2)!!! (r)!!! (r-1)!!! (n-r-3)!!! (r-2)!!!} \left[\frac{1+n}{(n-r)(r+1)} \right]$$

$$= \frac{n! (n+1)}{(n-r-1)! r! (n-r)(r+1)}$$

$$= \frac{(n+1)!}{(n-r)! (r+1)!}$$

$$= n+1C_{r+1}$$

Conclusion:

In this paper I have solved few properties of combination using the fact called triple factorial.

References:

[1] Gunasundari G “Properties of permutation using sub factorial” harshawardan publication, april 2018, issue 48 vol_01 ISSN 2394 5303

[2] G. Gunasundari “ properties of combination using subfactorial, international journal of emerging technologies and innovative research, December 2018, Vol 5, issue 12 ISSN 2349 5162

